Revisions

Rev Description Date Drawn

:,70{ Assembly instruction g ! 1 |[Moumting instruction and label added 2025-06-02 | SEME
— ~ Updated screw on item no. 6

DETAILS MAKE THE DIFFERENCE EK6 & 2 IMRT-TT M4x10 FZB was MRT-TT M4x6 Black 2025-06-26 | SEME

—Mounting instruction 9319-0
packed inside of packaging

/ Size: A5

For assembly instructions:
1. Scan QR-code
2. Browse to "Documents"

210

ENOC SYSTEM AB ollow us on m enocsystem.com
Box 159, 334 23 Anderstorp info@enocsystem.com

Yellow / green cable
6 mm?

148

Ring eyelet for M5

LN e

773307017 090950

\ 2 6 2 |[Screw MRT-TT M4x10 FZB Art.no. 1087037
EK 6 Label attached to & & JScrow DG 61059 P25 WHTES2 Aetno. 1067044
outside of packaging ' —
Size: 70x35mm 3 8 |Lock washer M5 FZB Art.no. 1087084
5 65 9 6 2 8 [Nut M6M M5 FZB Art.no. 1087071
1 6 |Earthing cable 300mm (Green / Yellow) Art.no. 193004
ltem| Qty Description Drawing no/other

For dimensions without tolerances, tolerances according to SS-ISO 2768-1 Medium are valid.

—— Material Colour 1
, ’ ! - -
U Surface treatment Colour 2
A

enocsystem_com Volume Dimension Colour 3
Title Sheet Drawn Scale Date
10of1| SEME 1:1| 2024-04-18
E K 6 First angle projection Drawing no Revision
Earthing Kit =1 A2| 8546 2

This document is Enoc Systems property and must not, without Enoc Systems written permission, be copied, communicated to third person or used for any other unauthorized purpose.




	Sheet1
	Drawing View1


